Geometry Honors: Target 12.1b Surface Area (Pyramids/Cones) Name

1. Draw a regular square pyramid. Label its height, slant height, and base.

Find the Surface Area.
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8. ERROR ANALYSIS: Describe and correct the error in finding the surface area of the right cone

5 = 7 (r?) + wridl
= 7(36) + 7(36)(10)
= 3967 cm®

10 cm

Find the missing length

9. MULTIPLE CHOICE The surface area of the right cone

is 2007 square feet. What is the slant height of the cone?
(A) 10.51t (B) 171t
© 23ft (D) 24 ft :

10. Find the radius of a cone with a surface area of 24n ft? and a slant height of 5 ft.

If necessary, round your answers to the nearest thousandth.

1) Drawing will vary 2) 116.4m? 3)256.85cm? 4) 150+/3 + 450 ~ 709.81in> 5) 207.27w ~ 650.94cm? 6) =~ 72.157m ~ 226.66ft> 7)90cm?
8) Perimeter of the base is calculated incorrectly; 96 cm? = 301.59 cm? 9) 17ft 10)r =3 ft




